MG60EN322

EN | Assembling scheme

DE | Montageschema

v

oFes

R FACA . =307
FR | Schéma d'assemblage ) | el il %?3521336 x12
a-xi1 b-x4 e-x1 g-x2 't'(i(,( @
| .
@ 3:))? f-x1 h x2@ ( (&
-0 | 42x80P [ xg| Mox10 | x4
| 5'1\(/|)4)2(AZ097K x8 I\n{||4§g(():|026 x4

/

Y

@

-

x4

M45A9067

M45A3039/M45A3040/| 4
M45A3041 X

—h

2019-10-23

1/13




MG60EN322

1200 mm
(47 1/4) inch

1400 mm
(55 1/8) inch

1600 mm
(63) inch

1800 mm
(71) inch

T

]

2019-10-23

2/13




3/13

MG60EN322

2019-10-23




4/13

MG60EN322

2019-10-23




5/13

MG60EN322




MG60EN322 @

EN | Assembling scheme %
DE | Montageschema

CATCA « 1 1A
FR | Schéma d'assemblage %/E \ | e e il 3’&1)2(;\%87'3 x2

h-x1 - x1 9) - 10
-PA ?::1 @ -NA nm§1@ v% 19 5

o -x1

j -x1 —
k - x1 @) ) Z’X:ﬁ M4220070 x6

\2

&

-PA

ODT‘L\ .
L

| |

L

B

;-- {/ / --:
N
-

-NA

3
o

‘ ‘ =
N=4 NS S
N |

2019-10-23 6/13




7/13

MG60EN322




8/13

MG60EN322

2019-10-23




9/13

MG60EN322

2019-10-23




MG60OEN




11/13

MG60EN322

2019-10-23




12/13

MG60EN322

1/-PA & -NA

2019-10-23




13/13

MG60EN322

2019-10-23




MGOEU012 | 1/9 ﬁﬁ (s5) %= 1) (2 =
ISO7380 1ISO10642 |SO10642 1ISO4042 |SO4042 D18 D16
W M8x14 M8x25 M8x16 4.5x20 5x50 \ @ O

Assembly scheme | Two persons
Required tools: DIN911 Hardware: x4 x8 x4 x12 X6
Product: @
C - 2 pcs.
Stage 1/2 d- 1 pcs.
Crossbar with leg assembly e -1 pes.
a-1pcs. b -2 pcs. f-1 pcs.
Active tabletop G6F105 - 1 pcs. G6F394 - 1 pcs.
G2AXXX -1 pcs.
* Hardware included

* Powerbox holder
will be used in
electronic assembly

2019.01.10







Av o

E |

\\

M60EUO12 | 3/9




M60EUO12 | 4/9 @% @
%N 1ISO7380 & (Bolts in G6F394 )

Assembly scheme | Two persons M8x14
Required tools: DIN911 Hardware: x4
Product:
Stage 2/2
Metal foot asembly
a-2pcs.

G3P023 - 1 pcs.

Parts:

2019.01.10




M60EUO012

5/9

* Attention ! First check if metal foot is symmetric.
Then tighten up.

/



RAD PDF
Oval


M60EUO12 | 6/9 @ @ @
1S04042 1S04042 D74 Q
Assembly scheme | Two persons 4.5x20 3.5x20 \W
Q

Required tools: Hardware: x8 x4 X6
Product:
Electricity assembly. Type PA
a-1pcs.
b -1 pcs.
c-1pcs
d- 1 pcs.

G6F391-PA or G6F393-PA - 1 pcs.

* Hardware included

* Power cable depend on * From G6F394 package
2019.01.10 the region socket type




M60EUO12 | 7/9

O 1.  Column cable
sl [ 2. Column cable
5 3. Power cable for controlbox
0 4. Type PA control unit cable
ol 5.  Main power cable
W

2019.01.10




Required tools: x8

M60EU012 | 8/9 ﬁﬁ (D @) 3
1S04042
1S04042 D7.4 ’
Assembly scheme | Two persons 4.5x20 3.5x20 % \ﬁ‘\,
Hardware: x4

Product:

Electricity assembly. Type NA a-1pcs
b-1pcs
c-1pcs.

G6F391-NA or G6F393-NA - 1 pcs.

* Hardware included

Parts:

* Power cable depends on * From G6F394 package
the region socket type

2019.01.10




M60EUO12 | 9/9

[
—

[ ] [ ] p/Oo ol o ©ood [ ]

.
H

Column cable

Column cable

Power cable for controlbox
Main power cable

N =

2019.01.10




	Sheet1
	Drawing View1

	Sheet2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View14
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View39
	Drawing View118

	Sheet3
	Drawing View20
	Drawing View21
	Drawing View40
	Drawing View43
	Drawing View44
	Detail View  (1 : 4.5)

	Sheet4
	Drawing View23
	Drawing View24
	Drawing View46
	Detail View  (1 : 6.2)
	Detail View  (1 : 3)
	Drawing View51

	Sheet5
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View38
	Drawing View45
	Detail View  (1 : 5)
	Detail View  (1 : 5)

	Sheet6
	Drawing View54
	Drawing View55
	Drawing View88
	Drawing View89

	Sheet7
	Drawing View56
	Drawing View57
	Drawing View58
	Drawing View59
	Detail View  (1 : 4)

	Sheet8
	Drawing View61
	Detail View  (1 : 2.3)
	Drawing View63
	Detail View  (1 : 4.5)

	Sheet9
	Drawing View65
	Detail View  (1 : 3)
	Drawing View67
	Detail View  (1 : 2.5)
	Drawing View69
	Detail View  (1 : 4)

	Sheet10
	Drawing View73
	Drawing View74
	Drawing View75
	Drawing View90
	Detail View  (1 : 4.5)

	Sheet11
	Drawing View76
	Drawing View78
	Detail View  (1 : 2.5)
	Detail View  (1 : 3.5)
	Drawing View122
	Detail View  (1 : 6)

	Sheet12
	Drawing View96
	Drawing View97
	Drawing View100
	Drawing View102
	Drawing View103
	Drawing View104

	Sheet13
	Drawing View84
	Detail View  (1 : 1.5)
	Drawing View86
	Drawing View87
	Detail View  (1 : 2)

	Intro
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View27
	Drawing View28
	Drawing View43

	Stage 1/2 (1)
	Drawing View36
	Drawing View37
	Drawing View40
	Drawing View57
	Drawing View87
	Detail View A (1 : 2.4)
	Detail View B (1 : 3)
	Detail View C (1 : 1.2)

	Stage 1/2 (2)
	Drawing View88
	Drawing View93
	Detail View G (1 : 3)
	Detail View E (1 : 1.8)
	Detail View F (1 : 2.7)
	Detail View D (1 : 3)

	Intro (2)
	Drawing View102
	Drawing View114
	Drawing View115
	Drawing View116

	Stage 2/2 (1)
	Drawing View117
	Drawing View119
	Detail View T (1 : 11)
	Drawing View121
	Detail View U (1 : 11)
	Drawing View123
	Detail View I (1 : 2.5)
	Drawing View125
	Detail View H (1 : 4)

	Intro (3)
	Drawing View129
	Drawing View141
	Drawing View142
	Drawing View143
	Drawing View144
	Drawing View145
	Drawing View147
	Drawing View148
	Drawing View149
	Drawing View150

	Stage 2/2 (1)(2)
	Drawing View151
	Detail View A (1 : 3)
	Detail View B (1 : 4)
	Detail View C (1 : 3)
	Drawing View155
	Drawing View173

	Intro (3)(2)
	Drawing View156
	Drawing View161
	Drawing View162
	Drawing View163
	Drawing View164
	Drawing View165
	Drawing View166
	Drawing View167
	Drawing View168

	Stage 2/2 (1)(2)(2)
	Drawing View169
	Detail View A (1 : 3)
	Drawing View172
	Drawing View174


